7387. The Cost of Moving
You've been put in charge of reorganizing the inventory at Amalgamated, Inc. AI has factories at various sites around the country, each site manufacturing different sets of products. Currently, each site has all of their products stored in a row of warehouses, with each warehouse storing one type of product. Your idea is to move these products around so that the warehouses store the items in alphabetical order. For example, one site which manufactures xylophones, q-tips, zeppelins and jump ropes stores them in four warehouses as shown at the top of the following figure:
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The arrows show how far each product would have to be moved in order for the warehouse to store them in alphabetical order, which is shown at the bottom of the figure.

Management likes your idea but is concerned about the cost of moving all of the products. The farther a product has to be moved, the more it costs, so before committing to any re-ordering they would like to know the total length that all products have to be moved at any given site. In the site above, xylophones would have to be moved a total length of 2 (measured in warehouses), zeppelins would have to move 1 and jump ropes would have to move 3, for a total cost of 6. What you need is a program that can determine this movement cost automatically.
Input. There will be multiple test cases. Each test case will start with a line containing a positive integer n indicating the number of products at the site. Following that will be one or more lines containing the n names of the products in their current order. Each name will be a single string, and a single space will separate each consecutive pair of names on any line. The maximum value of n is 1000, and no two product names will be the same. A single zero will terminate input.
Output. For each test case, output the site number followed by the total length of movements needed to reorganize the products. Follow the format shown in the Sample Output.
Sample Input
4

xylophones q-tips zeppelins jumpropes

12

partridges turtledoves frenchhens callingbirds goldenrings

geese swans milkers dancers leapers pipers drummers

0
Sample Output
Site 1: 6

Site 2: 48
SOLUTION
sort
Анализ алгоритма

Реализация алгоритма

